BEARRE WEEEHKEEERE

% # R - PR iR By B 8 B & # W E
ERIEHE 19, 538, 901
(L& #EK] 13,781, 282
KERE. REEMAEES 13,781, 282
KERE 3,651, 547
HEEER 593,513
1 EER 1.00 330, 320 330, 320
%
2 HMERR QEEZY) 3.00 87, 731 263,193
=
KEHRE lieEER:5t.1,2,460,0.0,.@,.6 1,896, 221
3K (1) WEBX : B5St.1,2,6 2 6.00 77,178 463, 068
4
4 ®K (2) L& BE - BASt 4 2 2.00 28, 434 56, 868
8
5 Kk (3) WeER: #00.0.0.@.6 3B 10.00 94, 988 949, 880
4
6 FHLENK 1.00 426, 405 426, 405
%
i OKEHEE) IBEK :5t.1,2,4,60,2.0.@,6 861, 540
7 HHEBR OKEHRE) 1.00 861, 540 861, 540
=
WESER (KEFRR) 300, 273
8 MEEMER KEHRE) 1.00 300, 273 300, 273
Ey




HEEWERE WEEEBKEEERE
£ [ I - KT B £ i % W =
EBHRE 1,312,611
KEERE IE#ERX:5t.1,24,61,2.0,@, 6 623, 931
9 ]ig (1) WEBRX : #5St.1,2,6 3.00 70, 060 210, 180
Hh
10 R (2) EER - #ERNSt. 4 1.00 39, 351 39, 351
Hhe
1R (8) WE#ER : #540,.2.0.@,6 10. 00 37, 440 374, 400
Hh
o (EEHRE) IWEEBK :5t.1,2,46 1D, 2.3,@,® 443, 200
12 AR (EEHE) 1.00 443, 200 443, 200
=®
BEZER (EERE) 245, 480
13 HEZMER (EERARE) 1.00 245, 480 245, 480
=®
ELXEMREE 339, 450
PERER (EEEYRE) IE#ERK :St.1,2,4,6 104, 000
14 SHER (EEEYAE) 1.00 104, 000 104, 000
=®
R - ER (EEEYRAE) 235, 450
15 217 - 28 (EXEEYHEE) 1.00 235, 450 235, 450
=®
BISRE 3, 695, 300
FEISRE Il&E#EK - St. 12,13 3,338, 640




HEEWERE WEESBKEEERE
% E71 R - BksHiE B £ B ) W E
16 ZiHHAE WEBRK : #4St. 12,13 254 >) 36.00 92,740 3, 338, 640
s
SRR CRERE) Il&E#K - St. 12,13 100, 000
17 >R GESBRAE) 1.00 100, 000 100, 000
=®
i - B GEHEHRT) 256, 660
18 fi##7 - B (GBIGHT) 1.00 256, 660 256, 660
=®
HEHEYRE 1, 740, 088
HEHEYRE Il&E#EK - St.7,8,9,10, 11 510, 318
19 HEHEMREE (1) ILEHK - #4St.7,9, 1 3.00 129, 836 389, 508
Hh
20 BEFEEMAE (2) ILEBRX : BRSt. 8,10 2.00 60, 405 120, 810
Hh
SHERER GHEmEMRE) e #EK - St.7,8,9,10, 11 750, 000
21 AR (BRTEMRAET) 1.00 750, 000 750, 000
=®
2 - 2% (FHETEYREE) 479,770
22 fEfr - ER (HETEYRE) 1.00 479,770 479,770
=®
EERE 3,042, 286
EE REERMRK 2,958, 286
23 REER/RM (1) IWWEBEREN 1.00 2,873, 447 2,873, 447




HEEWERE WEESBKEEERE
& [ I - KT B £ fili % W OE
24 RLER/M (2) LEBERER 1.00 84, 839 84, 839
=®
Z D 84, 000
25 METEERE 1.00 84,000 84,000
=®
[BEBX] , 157,619
KEBRIE. REEVREER , 757,619
KERE ,481, 475
RAEERE 362, 769
26 HEMIEWR QFEEZY) 3.00 120, 923 362, 769
=®
KERE A&ERXK S5t.1,2,3,4,5,6,7 174, 339
27 £k (1) —1 BEERX  BRSt. 1 3.00 26, 083 78, 249
Hh
28 K (1) —2 AEERX : BRSt.3 3.00 30,728 92,184
Hh
29 £RK (2) —1 BEERX : #5NSt.2,4 6.00 63,224 379, 344
s
30 /K (2) —2 BEERX : #55t.5,6,7 900 53, 603 482, 427
Hh
31 FHEER 1.00 142,135 142,135
=®
o OKEHRERE) , 600, 260
32 SR OKERE) 1.00 1, 600, 260 , 600, 260




HEEWERE WEESBKEEERE
£ E71 R - BksHiE BAfL £ {if ) =
MEZHER KERAE) 344,107
33 MEEERR KERAE) 1.00 344,107 344,107
=
EHHRE 1,055, 548
KEERE A&EBRX St.2,4,8 167, 236
34 ]FiE (1) BEERX : B#NSt. 2.4 4.00 36, 802 147, 208
s
35 #Fig (2) AEEX : BRSt.8 1.00 20,028 20, 028
s
S (EERE) A&ERXK :St.2,4,8 671, 950
36 HHEE (EERE) 1.00 671,950 671,950
=®
HESER (EERE) 216, 362
37 MEEMER (EERE) 1.00 216, 362 216, 362
=®
TSoH bURE 805, 646
IS5y bUBRE RA&BRX St 2,4 226, 376
38 TS5 FURAEREER REER : #E5St. 2,4 4.00 56, 594 226,376
s
SHHR (IS5 FUBAE) A&EEBRX St.2,4 252, 000
39 HWEHER (TS5 FURE) 1.00 252,000 252,000
=
B - 28 (529 FUBRRE) 327,270




BEARRE WEEEHKEEERE
2 o B - AR B ) B ff i =

40 i - ER (509 FUBRE) 1.00 327,270 327,270

=
i - | 244,950
& - |E 244,950
41 BR1E 1.00 90, 150 90, 150

[a
42 hfERE 1.00 90, 150 90, 150

G}
43 ML 1.00 64, 650 64, 650

[a
EHiERE 170, 000
R 170, 000
44 EFERER 1.00 170, 000 170, 000




BiER LEESHKEEERAE
% # s - BRHE s g i & & =

EENER 17,133,529
ERE 12,350,579 x 64.7% — 4,353 7,986, 471
AEREER 17,133,529 + 7,986, 471 25,120, 000
E R 2,381,270 + 24,102 2,405, 372
EEAGE 2,381,270
EEEE 24,102
Z Ot R A 2,381,270 x 53.85% ( 35% + (1 — 35%) ) 1,282,313
KB RE 2,405,372 + 1,282,313 3,687,685
—REEERE 3,687,685 x 53.85% ( 35% = (1 — 35%) ) — 3,503 1,982,315
ABREE 3,687,685 + 1,982, 315 5, 670, 000
A ERBE 25,120,000 + 5,670, 000 30, 790, 000
HEGEHRLE 30,790,000 x 10.00% 3,079, 000
AEEBE 30,790,000 + 3,079, 000 33, 869, 000




RER-TEIT/ Svr—o WeE2BKEEERE
EZ=
L AEERE EEL
% o] I - AR B 2 B ff % = w =
B8 E D
A 2.50 51, 000. 00 127, 500
IR
A 3.00 44, 000. 00 132, 000
B8 BT
A 1.50 34, 300. 00 51, 450
AEHT
A 0.50 32, 200. 00 16, 100
AT 250Y%
% 1.00 327, 050. 00 3,270
& B E%8EH - 1.00K 330, 320. 00 330, 320
BS 2
B MR QEENY) B
% o B - AR B g B ff %8 W = w =
AEWEE
A 2.00 27, 000. 00 54, 000
kSws 2t
=] 1.00 32, 863. 00 32,863 4.70H / 8H
AT E 2HE0%
% 1.00 86, 863. 00 868
& B {E¥8EH - 1.00K 87,731.00 87, 731




KRR -FET/ S — WEIEEBKERERE
&5 :3
B K (1) WEEBKX: #E4St.1,2,6 2B) 1TB&HY (3.2 )
2 L I - BRTiE By B E B O{H & %8 W = 5 &
REE SA4 kN 2L
=] 1.00 3,252.00 3,252/2.00H / 8H
ER FRP D 70PSE! 3.0t
=] 1.00 98, 574. 00 98,574 8H
B2 AR
A 1.00 44, 000. 00 44,000
B E H A
A 1.00 34, 300. 00 34, 300
BIZBF
A 2.00 32, 200. 00 64, 400
MM £HD%
% 1.00 244, 526. 00 2,445
= g YEXHBESN : 3. 204 = 77,178.00 246, 971
&5 4
2K (2) (LEER: ERWSt. 4 (2/E) 1BEY (7.9h=)
2 L I - KT By B E B O{H & %8 W = 5 &
REE SA4 kN 2L
=] 1.00 3,252.00 3,252/2.00H / 8H
FAEM FRP D 70PS%E! 3.0t
=] 1.00 76, 453. 00 76, 453 8H
B2 AR
A 1.00 44, 000. 00 44,000
B E H A
A 1.00 34, 300. 00 34, 300
BIZBF
A 2.00 32, 200. 00 64, 400
MM £HRD%
% 1.00 222, 405. 00 2,224
= g YEXBEHD : 7.904h = 28, 434.00 224,629




RER-TEIT/ Svr—o WeE2BKEEERE
BS:5
&% K (3) WEEK: B4D 0.0.@.6 (3E) 1BHY (2. 645)
3 # 1 - IR B g B ff %8 o= w =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 98, 574. 00 98, 574 8H
IR
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
BEBF
A 2.00 32, 200. 00 64, 400
AT 2h0%
% 1.00 244, 526. 00 2,445
& B YE¥BEH - 2.60h = 94, 988. 00 246,971
ES:6
L7 . BRI ER 13ty
3 # 1 - KT B g B ff %8 o= w =
RS
A 10. 50 34, 300. 00 360, 150
REE S4 kx> 20
H 10. 50 6, 310. 00 66,255 6.00H / 8H
& B E%8EH - 1.00K 426, 405. 00 426, 405




KRR -FET/ S — WEIEEBKERERE
&5 :1
2% AR KERE) 1X5Y
2 L I - BRTiE B = il %8 = fils

ERE

B®IK 46. 00 420. 00 19,320
KFAFVRE (pH)

B’k 16. 00 570. 00 9,120
LERIEE R E R E (COD Mn)

B®IK 16.00 2, 750. 00 44,000
FHEME=E (SS)

B’k 46. 00 1,900. 00 87, 400
BEEHEE D0)

B®IK 46. 00 1, 950. 00 89, 700
AEEEHHK

B’k 16. 00 3, 300. 00 52, 800
n—A~"FYUMEME

B®IK 8.00 3, 700. 00 29, 600
yO0R74)la

B’k 16. 00 5, 300. 00 84, 800
JxAT14Fa

B®IK 16.00 5, 000. 00 80, 000
7 UoEZTHESR NHA-N)

B’k 16. 00 2, 950. 00 47,200
FIHER R (N02-N)

B®IK 16.00 3, 050. 00 48, 800
THERTEZ= % (NO3-N)

B’k 16. 00 3, 050. 00 48, 800
22X TN

B®IK 16.00 7, 800. 00 124, 800
1) Bt > (PO4-P)

B’k 16. 00 2, 900. 00 46, 400
£21) > (T-P)

B®IK 16.00 3, 050. 00 48, 800
& H YE¥REH : 1.00 861, 540. 00 861, 540




RER-TEIT/ Svr—o WeE2BKEEERE
BS:8
& MEBER OKERBD) B
2 # 1B - AR By g fi %8 = ® =
ARG (&3
A 0. 60 62, 200. 00 37, 320
HEm (B)
A 2.60 45, 300. 00 117,780
Hifia
A 4.50 31, 600. 00 142, 200
EBARE HBEEDY
% 1.00 297, 300. 00 2,973
& it E%8EH - 1.00K 300, 273. 00 300, 273
BS99
A BE (1) WWEERX: #4St.1,2,6 1A4Y 4. 7# )
% # 1 - KT B g fi %8 W = w =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 98, 574. 00 98, 574 8H
IR
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
BKE(FA/8—) 10mLL £ 20m=k i
A 1.00 54, 400. 00 54, 400
BKTHBE (T4 /3—) 10mEL £ 20msk &
A 1.00 54, 400. 00 54, 400
TEYE
A 1.00 37, 100. 00 37,100
AT 2h0%
% 1.00 326, 026. 00 3, 260
& B YE¥8EH - 4. 70 R 70, 060. 00 329, 286




Rffik -/ \v7r—o

H#E:10

&% ]RE (2) WEERX: BASt. 4

WEEEEKERER

1B5Y (7.84#1:1)

i

4 b R - BRTE =-Fiv] 2 B £ IS 5 &

RBEHE 4 by 2L

B 1.00 3,252.00 3,252 2.00H / 8H
aEm FRP D 70PSE! 3.0t

=] 1.00 76, 453. 00 76, 453 8H
B E B

A 1.00 44, 000. 00 44,000
B = B Em A

A 1.00 34, 300. 00 34, 300
BKE(F A=) 10mEL £ 20mk &

A 1.00 54, 400. 00 54,400
EKLTHBIE (54 /3—) 10mLL £ 20mk %

A 1.00 54, 400. 00 54, 400
tEYE

A 1.00 37,100. 00 37,100
A H EXZDY)

% 1.00 303, 905. 00 3,039
& R YE¥8EH - 7.80h & 39, 351. 00 306, 944
B#5: 1
&% KR (3) WWEER: E#ND O,03.@, 06 1H&Y (9ths)

4 b R - BRTE =-Fiv] 2 B £ IS 5 &

RBEHE 4 by 2L

B 1.00 3,252.00 3,252 2.00H / 8H
AN FRP D 70PSZ! 3.0t

=] 1.00 98, 574. 00 98,574 8H
B E B

A 1.00 44, 000. 00 44,000
B = B Em A

A 1.00 34, 300. 00 34, 300
BKE(F A=) 20mLL £ 30m=K jif

A 1.00 58, 200. 00 58, 200
BKLTHBIE (54 /3—) 20mLL £ 30mk ;&

A 1.00 58, 200. 00 58, 200
tEYE

A 1.00 37,100. 00 37,100
A H EXZDY)

% 1.00 333, 626. 00 3,336
& R YEEBEH - 9.00th & 37,440.00 336, 962




Rif&- BT/ Svyr— WaESSKEETRE
HE5:12
2% omEER (EERE) 1Y
4 L R - KT By = il %8 = 5 &=
ETNER D EH=RER
B’k 14.00 8, 700. 00 121, 800
BE EHERR
B®ix 4.00 2, 250. 00 9, 000
L2 HIBRRE K E (COD) EH=RER
B’k 4.00 3, 650. 00 14, 600
sREAEE (IL) EHERR
B®ix 4.00 2, 750. 00 11,000
Sk EH=RER
B’k 4.00 1, 600. 00 6, 400
B 1EZ B4 (ORP) EHERR
B®ix 14.00 1,400. 00 19, 600
miew (T-S) EH=RER
B’k 4.00 3, 800. 00 15, 200
22X TN EHERR
B®ix 4.00 4,750.00 19,000
£1) > (T-P) EH=RER
B’k 4.00 4,150.00 16, 600
k- 2% - BECNS)
B®ix 10. 00 21, 000. 00 210,000
=) &t YEEBEH : 1.00 443, 200. 00 443, 200
5 13
2% REEESR (EERE) 1Y
4 L R - KT By = il %8 = 5 &=
F AR GRED
A 0. 60 62, 200. 00 37,320
AR (B)
A 2.10 45, 300. 00 95,130
Hiftga
A 3.50 31, 600. 00 110, 600
EHRARE FHHEEDY
% 1.00 243, 050. 00 2,430
=) g YEEBEH : 1.00 245, 480. 00 245, 480




RER-TEIT/ Svr—o WeE2BKEEERE
E5 14
B R (EEEWRE) EEL
% o 1 - IR Bify % B B %8 w = w =
SRR EEEY
B®IK 4.00 26, 000. 00 104, 000
& it {E¥8:H - 1.00K 104, 000. 00 104, 000
=:15
B BT EE (KEAVHESD) B
2 # 1B - IR Bif % B B %8 w = " =
Wi - 2R (EEEMAE) BEEAGE
= 1.00 233, 000. 00 233,000
BT - 2R (EEENAD) EERE
= 1.00 2,450. 00 2,450
& it {E¥8:H - 1.00K 235, 450. 00 235, 450
H5 : 16
L BBAT LAEBK : EBASL 12,13 254 ) 1B%4Y (3 5HH)
2 # 1B - IR Bif % B B %8 w = " =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 98, 574. 00 98, 574 8H
1]
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
BKE (F 41— 10mk i
A 1.00 50, 500. 00 50, 500
BKETHBE (B4 /3—) 10mk &
A 1.00 50, 500. 00 50, 500
TEYE
A 1.00 37, 100. 00 37,100
AT 240Y%
% 2.00 318, 226. 00 6, 364
& B YE¥8EH - 3.50th A 92, 740. 00 324,590




RER-TEIT/ Svr—o WeE2BKEEERE
H5 17
L SRR GESEA) EE)
% o 1B - IR Bif B B e w = " =
SRR EISEY (BH)
®RiR 2.00 25, 000. 00 50, 000
SRR HEIBEY (@Y
®RiK 2.00 25, 000. 00 50, 000
& it E%8EH - 1.00K 100, 000. 00 100, 000
= :18
B RAT - B (RIBHBD) EE)
% o 1B - Bk B g B % W = w =
BT - E2= (EHRE) BEEAGE
= 1.00 254, 000. 00 254,000
B - ER(EBAR) EERE
= 1.00 2,660. 00 2,660
& it E%8EH - 1.00K 256, 660. 00 256, 660
H5:19
L% BREEWRAET (1) WEBE : BHSt. 7,9, 11 1BYY (254 5)
% o 1B - ARt B g B %8 w = w =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 98, 574. 00 98, 574 8H
1]
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
BKE (F4 1) 10msk %
A 1.00 50, 500. 00 50, 500
BKETHBE (F4/3—) 10mk &
A 1.00 50, 500. 00 50, 500
TEYE
A 1.00 37, 100. 00 37,100
AT 240Y%
% 2.00 318, 226. 00 6, 364
& B YE¥8EH - 2.50th A 129, 836. 00 324,590




RER-TEIT/ Svr—o WeE2BKEEERE
H5:20
L SREAEMRAET (2) WEHEK : HERSL.8 10 18%Y (5ihH)
% o 1 - IR B g B & & w = w =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 76, 453. 00 76, 453 8H
1]
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
BKE (F4 1) 10mk i
A 1.00 50, 500. 00 50, 500
BKETHBE (F4/3—) 10mk &
A 1.00 50, 500. 00 50, 500
TEYE
A 1.00 37, 100. 00 37,100
AT 240Y%
% 2.00 296, 105. 00 5,922
& B YE%8EH - 5. 00t 60, 405. 00 302,027
521
B HHRER GHRISLEMESE) EEL
% o 1 - KT B g B & & W = w =
SRR WmEEY (3
®iK 15.00 25, 000. 00 375, 000
SRR BEELEY (W)
®iR 15.00 25, 000. 00 375, 000
& it E%8EH - 1.00K 750, 000. 00 750, 000
5 :22
B R - ER GHREEYRE) EE
% o 1 - IR B g B & & w = w =
BT - 2R (AREENRD) BEEAGE
= 1.00 475, 000. 00 475, 000
BT - 2R (ERELEDRD) EERE
= 1.00 4,770.00 4,770
& it E%8EH - 1.00K 479, 770. 00 479,770

10




RER-TEIT/ Svr—o WeE2BKEEERE
&5 :23
L RLEEM (1) UEBRHEN EEL
% o 1 - IR B g B ff %8 w = w =
TEERMm FRP D 260PS%!
=] 13.20 215, 761. 00 2,848,045 6.00H / 8H
ERSVHFE E R VHF i 12
H 13.20 841.50 11,107
AT E 2HE0%
% 0.50 2,859, 152. 00 14, 295
& B {E¥8:H - 1.00K 2,873, 447.00 2,873, 447
H5:24
L% RLEEN (2) WABRBER B
2 # 1B - AR Bif B B %8 = " =
TEERMN FRP D 260PS%!
H 0.50 168, 219. 00 84,109/6.00H / 8H
ERSVHFE E R VHF i 12
=] 0.50 617.10 308
AT E 2HE0%
% 0.50 84,417.00 422
& B {E¥8EH - 1.00K 84, 839. 00 84, 839
&5 :25
& BIERAE EEL
2 # 1B - AR Bif B B %8 = " =
E-AYUTHRE
IiE 2.00 42,000. 00 84,000
& it E%8EH - 1.00K 84, 000. 00 84, 000

11




RER-TEIT/ Svr—o WeE2BKEEERE
H5 : 26
A MAER QEELY) B
% o 1 - IR B g B ff %8 w = w =
AEWEE
A 2.00 27, 000. 00 54, 000
kSws 2t
=] 2.00 32, 863. 00 65,726 4.70H / 8H
AT E 2HE0%
% 1.00 119, 726. 00 1,197
& B {E¥8:H - 1.00K 120, 923. 00 120, 923
&5 21
2K (1) —1 AEBRX : HRASt.1 1A&Y (8.6ihsm)
2 # 1B - IR Bif B B %8 w = " =
REE S4 kx> 20
=] 1.00 3,252.00 3,252/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
H 1.00 76, 148. 00 76, 148 8H
B8 D
A 1.00 44,000. 00 44,000
T
A 1.00 34, 300. 00 34, 300
AEHTF
A 2.00 32, 200. 00 64, 400
AT E 2HE0%
% 1.00 222,100. 00 2,221
& B {EX8:H - 8. 60t 26, 083. 00 224, 321

12




AL/ o7 —2 WEEEHKEEEAE
5 :28
BF K (1) —2 BEBE  BRSES B%Y (7.3
% # B - R ET B B @ 2 = o= o
RBE 4 kN 2L
=] 1.00 3,252.00 3,252/2.00H / 8H
FEM FRP D 70PS% 3.0t
H 1. 00 76, 148. 00 76,148 8H
HERE
A 1.00 44, 000. 00 44,000
EET L
A 1. 00 34, 300. 00 34, 300
HEHTF
A 2.00 32, 200. 00 64, 400
A ET
% 1. 00 222, 100. 00 2,221
a B YEEBED - 7.30tm 30, 728. 00 224, 321
E#5:29
BH K (2) —1 BEBE  B05L 24 1B%Y (39
% # s - R ET B B @ 2 & o= o
RBE 4 b\ 2L
H 1. 00 3, 2562. 00 3,2522.00H / 8H
FEM FRP D 70PS% 3.0t
H 1.00 98, 183. 00 98,183 8H
HERE
A 1. 00 44, 000. 00 44,000
EET L
A 1.00 34, 300. 00 34, 300
HEHTF
A 2.00 32, 200. 00 64, 400
A ET
% 1.00 244, 135. 00 2,441
a B YEEBED : 3. 90t = 63, 224. 00 246, 576

13




AL/ o7 —2 WEEEHKEEEAE
H#5:30
B3k (2) —2 EHBE  BHSLE 6T 1B%Y (4 o)
% # B - R ET B B @ 2 = o= o
RBE 4 kN 2L
H 1. 00 3, 2562. 00 3,2522.00H / 8H
FEM FRP D 70PS% 3.0t
H 1.00 98, 183. 00 98,183 8H
HERE
A 1. 00 44, 000. 00 44,000
EET L
A 1.00 34, 300. 00 34, 300
HEHTF
A 2.00 32, 200. 00 64, 400
A ET
% 1.00 244, 135. 00 2,441
a B YEEBED : 4. 60t = 53, 603. 00 246, 576
H#5 31
£ SRR ETT)
% # e - R ET B B @ 2 & o= o
HEREH
A 3.50 34, 300. 00 120, 050
RBE 54 kN 2L
=] 3.50 6, 310. 00 22,085/6. 00H / 8H
a B EEBED - 1.00=K 142, 135. 00 142,135

14



REK-FET/ Svr—o WeE2BKEEERE

ES:32
&% SWEER OKERE) =10
4 b R - BRTE Bf H B B O & # IS 5 &

EHE

B®IK 21.00 420. 00 8,820
KFEA A4 VRE (pH)

B®iK 42.00 570. 00 23,940
LB R E R = (COD Mn)

B®IK 42.00 2, 750. 00 115, 500
L rEE R ERE (COD OH)

B®iK 9.00 2,600. 00 23,400
FilEYE = (SS)

B®IK 42.00 1, 900. 00 79, 800
BrEEEE 00)

B®iK 42.00 1, 950. 00 81,900
RZE K

B®IK 42.00 3, 300. 00 138, 600
n—AXHUHMHEYE

B®iK 42.00 3, 700. 00 155, 400
£2% (TN

B®IK 42.00 7, 800. 00 3217, 600
21> (T-P)

B®iK 42.00 3, 050. 00 128,100
e (Zn)

B®IK 42.00 3, 100. 00 130, 200
) U ERTE )~ (P04-P)

B®iK 9.00 2,900. 00 26,100
AR 74)a

B®IK 9.00 5, 300. 00 47,700
T ER M= % (NO3-N)

B®iK 9.00 3, 050. 00 27,450
HEAEEETE = 5 (NO2-N)

B®IK 9.00 3, 050. 00 217, 450
7 UEZT HEEFR (NHA-N)

B®iK 9.00 2,950. 00 26, 550
BRBIER (BEAXIHAUM)

B®IK 9.00 2, 250. 00 20, 250
WibkE

B®iK 9.00 4,000. 00 36, 000
R (Cu)

B®IK 9.00 3, 100. 00 217,900
TILE =7 L (Al)

B®iK 9.00 3,100. 00 27,900
<A (Mn)

B®IK 9.00 3, 200. 00 28, 800
&% (Fe)

B®iK 9.00 3, 200. 00 28, 800
feA # 2 REEHEH

®IK 9.00 3, 500. 00 31,500
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RER-TEIT/ Svr—o WeE2BKEEERE
% o B - AR Bfy % B B ff %8 w = w =
Jx/—)LEF
®RiR 9.00 3, 400. 00 30, 600
& it {E¥8:H - 1.00K 1,600, 260. 00 1, 600, 260
&5 : 33
& MEBER OKERBD) B
2 # 1B - AR By % B B %8 = ® =
I B (B3
A 0. 60 62, 200. 00 37,320
HEF (B)
A 3.00 45, 300. 00 135, 900
B8
A 5.30 31, 600. 00 167, 480
EBARE HBEEDY
% 1.00 340, 700. 00 3,407
& it {E¥8:H - 1.00K 344,107. 00 344,107
H5 34
A BE (1) BEEBX: #4St.2.4 1A&Y (6. 7# )
2 # 1B - AR By % B B %8 = " =
REE S4 kx> 20
H 1.00 3,252.00 3,252 2.00H / 8H
SREM FRP D 70PS#E! 3.0t
=] 1.00 98, 183. 00 98, 183 8H
B8 D
A 1.00 44,000. 00 44,000
RS
A 1.00 34, 300. 00 34, 300
AEHTF
A 2.00 32, 200. 00 64, 400
HHH 2HE0%
% 1.00 244,135. 00 2,441
& B {EX8EH - 6. 70t & 36, 802. 00 246,576
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AL/ o7 —2 WEEEHKEEEAE
S5 : 35
B R (2) EABE WSS TBHY (11 28)
% # B - R ET = @ # o= W
RBE 4 by 2L
H 1. 00 3, 2562. 00 3,2522.00H / 8H
FEM FRP D 70PS% 3.0t
H 1.00 76, 148. 00 76,148 8H
HERE
A 1. 00 44, 000. 00 44,000
EET L
A 1.00 34, 300. 00 34, 300
HEHTF
A 2.00 32, 200. 00 64, 400
A ESRT
% 1.00 222, 100. 00 2,221
a B TEEBED - 1. 2048 = 20, 028. 00 224, 321
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RER-TEIT/ Svr—o WeE2BKEEERE

5 : 36
& HWEER (EEHRE) 1KLY
% E R - BRTE B #H =2 B € & = i &

ATALEE & BHHBRA

B®iK 5.00 4, 250. 00 21,250
EEXHE AR A

B®IK 1.00 9, 250. 00 9,250
I EE A R EHEHEB

B®iK 4.00 8, 700. 00 34, 800
BE EHEHR

B®IK 4.00 2, 250. 00 9,000
LB R E R 2 (COD) EHEHEB

B®iK 4.00 3,650.00 14, 600
BmEEE (IL) SHEHR

B®IK 4.00 2, 750. 00 11,000
Bt (T-9) EHEHEB

B®iK 4.00 3,800.00 15, 200
2% (T-N) AR

B®IK 4.00 3, 600. 00 14, 400
1) > (T-P) AR

B®iK 4.00 3,050. 00 12,200
7 U EZTHZEZR (NHI-N) AR

B®IK 4.00 3, 100. 00 12,400
TWAEERE = % (NO2-N) AR

B®iK 4.00 3,000. 00 12,000
TEEETE = & (NO3-N) AR

B®IK 4.00 3, 000. 00 12,000
1) U ERTE ) > (PO4-P) AR

B®iK 4.00 3,100. 00 12, 400
FILEILKEEEE W AR

B®IK 1.00 9,100. 00 9,100
KEXIFFDILEYD AR

B®iK 1.00 4, 050. 00 4,050
ARIHLRTZFDIEEY AR

B®IK 1.00 3, 100. 00 3,100
MRXITZDILED AR

B®iK 1.00 3,100. 00 3,100
- DI A=x7 AR

B®IK 1.00 9, 550. 00 9, 550
ANEY O LLEH AR

B®iK 1.00 3,050. 00 3,050
MEXIEZDEEY AR

B®IK 1.00 4, 000. 00 4,000
ST UEED AR

B®iK 1.00 3,500. 00 3,500
PCB AR

B®IK 1.00 19, 700. 00 19, 700
XTI ZDIEEY AR

B®iK 1.00 3,100. 00 3,100
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KRR -FET/ S — LEEEBKEEERE
4 b g - BRKTE BAGL 2 B {f £ = 5 &

BRXITZDOIEED AR

B®iK 1.00 3,100. 00 3,100
vt AR

B®IK 1.00 3, 650. 00 3, 650
PR AR

B®iK 1.00 3,350.00 3,350
kysooTFLY AR

B®IK 1.00 5, 000. 00 5,000
FhSOO0IFLY BHRER

B®iK 1.00 5, 000. 00 5,000
NY YO LRIEZEDIEEY B ER

B®IK 1.00 3, 800. 00 3, 800
S OLXIEZFDIEEY AR

B®iK 1.00 3,050. 00 3,050
ZyHTLRIZEFDLEY AR

B®IK 1.00 3, 100. 00 3,100
NFTILRIEFDIEEY AR

B®iK 1.00 3,550.00 3,550
soooxray AR

B®IK 1.00 5, 000. 00 5,000
mig bR E AR

B®iK 1.00 5, 000. 00 5,000
1-2->HoOoxTH > AR

B®IK 1.00 5, 000. 00 5,000
1-1-HopIFL> BHEER

B®iK 1.00 5, 000. 00 5,000
R-1-2->HoOoxFLy AR

B®IK 1.00 5, 000. 00 5,000
1-1-1-ryopnpxTA2 > BHRER

B®iK 1.00 5, 000. 00 5,000
1-1-2-+yypooxTia> AR

B®IK 1.00 5, 000. 00 5,000
1-3->4s/opnaRy BHRER

B®iK 1.00 5, 000. 00 5,000
FT L AR

B®IK 1.00 15, 300. 00 15, 300
PDESY AR

B®iK 1.00 14, 200. 00 14, 200
FARVALT AR

B®IK 1.00 14, 200. 00 14,200
Rty AR

B®iK 1.00 5,000. 00 5,000
LY (RIEZFDIEEW AR

B®IK 1.00 4, 250. 00 4, 250
ER s | AR

B®iK 1.00 114, 000. 00 114,000
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REK-FET/ Svr—o WeE2BKEEERE

4 g g - BRTE BAr 8 = B i & & W = 5 &=

ma BHRER

B®ix 1.00 6, 300. 00 6, 300
(A EXD BHRR

B®ix 1.00 14, 000. 00 14,000
KEBXIZZFDIEEY 2HEHRR

B®ix 1.00 4, 850. 00 4, 850
PCB EHERR

B®ix 1.00 22, 500. 00 22,500
BERIERILED 2HEHRR

B®ix 1.00 13, 500. 00 13,500
EEEED BREHR

B®ix 1.00 117, 500. 00 117,500
& &t VEZ£HH - 1. 00 671, 950. 00 671, 950
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RER-TEIT/ Svr—o WeE2BKEEERE
&5 .37
2 MEZER (EEHBD) B
% o 1 - IR B g B ff %8 w = w =
ARG (&3
A 1.30 62, 200. 00 80, 860
HEm (B)
A 1.20 45, 300. 00 54, 360
Hifia
A 2.50 31, 600. 00 79, 000
EBARE HBEEDY
% 1.00 214, 220. 00 2,142
& it E%8EH - 1.00K 216, 362. 00 216, 362
&5 .38
B TS FURBEREHRER BABRE  B5St. 2 4 1BYY (4 440 5)
% o 1 - KT B g B ff % W = w =
REE 54 kX2 2L
H 1.00 3,252.00 3,252 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 98, 183. 00 98, 183 8H
3B 8 BT
A 1.00 44, 000. 00 44,000
B & BT
A 1.00 34, 300. 00 34, 300
AEHT
A 2.00 32, 200. 00 64, 400
AT 250Y%
% 2.00 244,135. 00 4,882
& B YE¥8EH - 4. 40 56, 594. 00 249,017
&5 : 39
L SRR (TS50 FURE) EEL
% o 1 - IR B g B ff %8 w = w =
SRR P PVAY,
B®IK 8.00 21, 000. 00 168, 000
SRR P PYAY,
®iR 4.00 21, 000. 00 84, 000
& it E%8EH - 1.00K 252, 000. 00 252,000
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RER-TEIT/ Svr—o WeE2BKEEERE
= : 40
L M- ER (TS50 FURED) EEL
% o B - AR B g B ff %8 = w =
BT - ER (TS50 FUBE) BEEAGE
= 1.00 324, 000. 00 324,000
Wi - ER (TS50 FURE) EEEE
= 1.00 3,270.00 3,270
& it E%8EH - 1.00K 327, 270. 00 327,270
54
&7 . BRTHE 1EH Y
% o B - AR B g B ff %8 = w =
B8 TR
A 1.00 51, 000. 00 51,000
B8 D
A 0.50 44,000. 00 22,000
RS
A 0.50 34, 300. 00 17,150
& it ES RN E 90, 150. 00 90, 150
HE 42
L : hRIHE 1EH Y
2 # 1B - AR By g B %8 £ " =
B8 TR
A 1.00 51, 000. 00 51, 000
B8 D
A 0.50 44,000. 00 22,000
RS
A 0.50 34, 300. 00 17,150
& it ES RN E 90, 150. 00 90, 150
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REK-FET/ Svr—o WeE2BKEEERE

HE 43
& RBRJRE 1EHY
% L A - kTiE B H = B {f & el = i &
B2 EEBED
A 0.50 51, 000. 00 25, 500
BIEHED
A 0.50 44,000. 00 22,000
B = AT
A 0.50 34, 300. 00 17,150
& H YEZREH : 1.00[H 64, 650. 00 64, 650
EE 44
2 XBRESR 1XzyY
% L R - kTiE B H = B {f & el = i &
(B RRE
= 1.00 170, 000. 00 170, 000
= &t YEEBEH : 1.00 170, 000. 00 170, 000
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